
1. tells

2. is

3. is

4. works

5. is

6. eat

7. want

8. brings

9. was

10. have come

11. am

12. has taken

1. are

2. were

3. are

4. has

5. has

6. works

7. is

8. wants

9. want

10. has

Check your ability13. speaks

14. is

15. is

16. was

17. has

18. knows

19. was

20. work

21. is

22. was

23. is

24. has

25. swims
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180 
´ 2 = 36

                         10
4. 2727272727

3:5 = x :45
  3 =  x

                  5   45
  x = 45 ´ 3 = 27
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5. 1:101:101:101:101:10
500 gm : 5 kg

500 gm : 5000 gm       5kg = 5000 g

= 1î: 10
6. 8 :38 :38 :38 :38 :3

P : Q =  4 : 3

â â

Q : R = 2 : 1

P : R =  8 : 3

7. 4040404040
B¨Ip´nIƒ = 600  ´ 2
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8. 99999

3x + 8 5
2x + 3 3
3(3x +8)   = 5(2x +3)
  9x + 24  = 10x +15

                         x  = 24 -˛- 15
                            = 9
9. 22222
 ì x : 3 = 10 :15

     x = 10
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15       
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10. 8:58:58:58:58:5
x : y = 40 : 25
      = 8:5

11. 3:5:203:5:203:5:203:5:203:5:20
A : B =   3 : 5

B : C =   1  : 4

A     B     C

3     5

       1     4

  A:B:C = 3  :  5  :   20

12. 5:15:15:15:15:1
   (x + y) : (x - y) = 3:2

   (3+2)  : (3-2 )  = 5:1

13.   30

60   
´ 5

10           
 = 30

14. 3:5

x : y  = 2 : 1

(x2 - y2) : (x2 + y2)

         = (22 - 12) : (22 + 12)

         = (4 - 1) : (4 + 1)

                    = 3:5

15. 25
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       = 25
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= 15: 5
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24 ´12
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3) 3500
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4) 16,20

     kwJyIƒ     =  4x, 5x

              4x + 8  : 5x +8  = 6: 7
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  5x +8     
=
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                       7(4x +8) =  6(5x =8)

                      28x + 56  = 30x +48

30x - 28x = 56 - 48

           2x = 8

             x = 4

          kwJyIƒ  4x = 4 ´ 4   =16

                                  5x = 5´ 4  =  20

5) 144
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1 50 25

 tdtjym 2 3 4

    cq] 2 1.5 1

BsI = 4.50
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  = 144
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